4.2 Rolle’s Theorem and the Mean
Value Theorem

Name: Date: June 3, 2015

P 10. Determine whether Rolle’s Theorem can be applied f(z) = 2* — 8x + 5 on the closed
interval [2, 6], explain. Find all values such that f’(c) = 0.

P 12. Determine whether Rolle’s Theorem can be applied f(z) = (z — 4)(x + 2)? on the closed
interval [—2, 4], explain. Find all values such that f’(c) = 0.



P 21. Determine whether Rolle’s Theorem can be applied f(z) = (2 — 2z)e” on the closed
interval [0, 2], explain. Find all values such that f’'(c) = 0.

P 40. Determine whether the Mean Value Theorem can be applied f(z) = 2z* on the closed
interval [0, 6], explain. If the Mean Value Theorem can be applied, find all values of ¢ in the
open interval (a,b) such that

f(b) — f(a)

flo ==



P 45. Determine whether the Mean Value Theorem can be applied f(x) = |22+ 1| on the closed
interval [—1, 3], explain. If the Mean Value Theorem can be applied, find all values of ¢ in the
open interval (a,b) such that

fb) = f(a)

R

P 48. Determine whether the Mean Value Theorem can be applied f(z) = ¢3* on the closed
interval [0,2], explain. If the Mean Value Theorem can be applied, find all values of ¢ in the
open interval (a,b) such that

f(b) — f(a)

fle) = Ho =



P 52. Determine whether the Mean Value Theorem can be applied f(z) = arctan(1 — x) on the
closed interval [0, 1], explain. If the Mean Value Theorem can be applied, find all values of ¢ in
the open interval (a, b) such that

fb) = f(a)
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